SPTA HSRER )

44— ) i'l:r.e&maz&w,d&, ﬂ#ﬂ-fﬂt’a«zﬂf’ﬁv’w”) 1{4‘ @%ﬁ;\z ;é?\é
Sy . (el 028, plobe piazs) LR R0 A B C DELS
s ADAB . A0BC, Apch nitbs

B(lteel £8) Sl 2. B3 AL

0 Allo) ok
e Liomel=Lana
So= | (14l ) BB t£025) - £ [t tne28)| = L (1 a8V (1) B e Pl Pl o580 |
<L 280028281~ £38) L1 30) 11535 <L (200l 1 2018 2125 - 302125

L2058 108 = finre 1SR

3'3:%l(l+r,e6l+rae20)(ﬁ1«ﬂ+&'w2§‘rﬁ#36)— (Pon +£02) (ltrecB 02847238 ) |
z;_{ (1B P8 2) (4Bt S8-A028 ) 38 ~ (Pt £ 28) 4 &+rx‘2§)_(m&+z%@r«&)f,/e§&{

X2 a3 = (28 40)= o 2BoeBt (1028 Rrn b= 2L fre e+ (B -LR0) A
= 2L O0-(1-0R0) + (1~20030) lunli= 20,8 ~2£339-+ £, B 2130 = 3P B-_TAL3H-
(12 30 102 (2048 = 11 2rse b~ 20 L= (1 28~ B e 8 - 2 s Bt B 6.
= [Zrﬁ&—l)%&‘za—m;wm@ = 2680 —re 2B+ 26d8 = FdB 3l =
5322 | (e-120.20) B0 FAL0) - (0428510 der-3008))|
=L Pl Bre | (1+26) (34858 ) ~(1+20<8) (G -3) |
< LAl Beoe (14 20e8) | 3- TP = Te AP 43 [ = b8 A2 PLO(1-PHB) =~ 20138+ 20151

SEWOBERE S6) (16<E) T S0)= ivSurSs= 2100 3040+ 26 et

§I(B):—é,@i}ﬂr&@-*’SIK@*Z(oe&f&a—Zﬂviove*:-@. \>'<\, é(\§)3+¢(_\2§)2_§(‘%)’_2
= ‘é(FI‘V‘Z{G)I‘:(&'*'S/d&fZ(&Qz& ‘ZU-f’QZB) = SZ_% +l§_ *2_2: D
= - bt é_{o<330+ 30eBt 2ra B -2 + 20 - 2 -3
= brl B + Db —3B-2 3 3 a3 -2
2 2 ' ():(54 9412
= (re8+3) 6 (nE0—%) T s
=3(-2
Sy=vnt . rﬂe&:FL . =LE e
G o \Lg SRS SO TERETE AL 1h3
S (0| — L7 $aw £ ©
S hgWo b it
g(&) \/7, \’ﬁ*\ \’ ét *E\oxlﬁ <L§l3_ ’\/24_ [

O Foh kol oz



